AMBERSIT XS

TFHTILR 2016FE2H 290K
JERL |44 Hi XEH 2016 N | 20158 [ 20158 F | 20158 | &5t
1A HEME |fEREKE 150 150 150 450
2|%H =i fam K 50 150 150 350
3iEE A& BEKXE 150 2 20 112 284
4|5 tis FEREFERXE 25 20 112 75 232
4Z+ BHE FEREFERXE 25 20 112 75 232
6|KfHE HFEYW [fBEXZE 50 2 20 112 184
1ERH BHE [BEEKFEXE 50 2 75 40 167
1ES BE BEAEXE 50 2 75 40 167
o|hFt EBE REAZERKXE 75 75 150
10|RTEH FE BEERAFXE 25 11 40 20 96
1R XK BEERAFXE 25 40 20 85
13l #HihF [ARFERERXE 25 40 20 85
11[FH 0NY |BEEFRERXE 25 40 20 85
14|F5H TEF |[RBEEXZE 25 2 20 20 67
15| FRIFF B |[RBEEREXE 6 20 40 66
160110 BkE RIGERXE 25 20 20 65
17018 5 AR ZXFRAE 2 20 40 62
17/@Af X8 AR ZXFRAE 2 40 20 62
17|HE K% FEAEXERKE 2 20 40 62
20\/M)II SEBE AR ZXFRAE 40 20 60
21|HIG FIE RIBEREXE 6 20 20 46
22|5H HHY | RIFEREKE 2 20 20 42
2| FE BX RIGERXE 2 20 20 42
4| EZE BE RIGERXE 40 40
25|10 BE BREXZ 6 0 20 26
25|[@% TANh |EREXE 6 0 20 26
21|88 F3* FARXFEREKE 2 20 2 24
28110 %8 WEZEEEHKXE 20 2 22
28(FRH ¥t WEZEEEHKXE 20 2 22
28| thE FEAEXERKE 20 2 22
NHKX EIR EIREEREXRE 20 20
32|/ Hk HEZE BEERAFXE 11 0 2 13
BIUT EiE RIGK=E 6 0 2 8
3B|UE F RIGKE 6 2 8
3b|fEHE FIF BREXZE 6 0 6
B|FE HP BREXZE 6 0 6
N=HFE FY RIGK=E 2 2 4
J7|AH &F RIGK=E 2 2 4
JNME Hhh |REBFXKZFE 2 0 2 4
J1|iXE EXE fEEBEKXE 2 2 4
7R #ME fEEHEKXE 2 2 4
42|lLdt NE M HILKRE 1 2 3
2\%HE FE EEXE 1 0 2 3
2| lUK #8574 AR R E 1 2 3




45|85 K ET| Ao KRE 2 2
4518 K LRI ILKRE 2 2
45| HK X2 AT ILKRE 2 2
45|FH EF LRI ILKRE 2 2
45|H# E EH EEXE 2 2
45|7H = EEXE 2 2
BIBKR E=F EEXE 2 2
453EFR & FARXEREKE 0 2 2
45(hHF IR FARXEREKE 2 2
45| BH #RETE | EBERXE 0 2
45|51 #H/BE R K= 2 2
45| =% BE fREHEEXE 2 2
5|5 H B fREHEEXE 2 2
58| TH#t <% [EBEIKE 0 1




